Exercise 3C
1
(a)  The traditional time (t) needed to cook your Christmas turkey has been '20 minutes per pound and 20 minutes over'.  Write a formula describing the time needed to cook a turkey weighing x pounds.


(b)  Bearing in mind that 1 kilogram ≈ 2.2 pounds, how many hours does a turkey weighing 5 kilograms need?
2
Simplify: (a)  3(2 – 5) + 5(2 – 3) – (6 – 8)
(b)  2(7 – 5) + (-7)(3 – 7) 


3
Simplify: (a) 5(x + 1) + 4(3x – 5)

(b)  3(3x – 2) – 3(2x – 4)

4
Evaluate: (a)  – (36)1/2 + (-6)2 – (64)1/3
(b)  (343)1/3


5
Simplify: (a)  ab3 × a3b × b3 ÷ a6b7

(b)  x3y4(x2 – y2) – xy4(x2 – x2y2) 
6
Simplify: (a)  (x4y2z2)1/2 ÷ x2yz

(b)  (x - y)0 – (x – y)2
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7
Simplify: (a)  2(x + y)-3 × (x + y)3  

(b)  (x – y)1/2 × (x – y)-1 ÷ 4(x – y)2
8
Simplify  (a)  3(17 – 14) – 6[(5 + 7) – 3]
(b)  (-5)[6 + (-7)] + 3{[(-6) – (-5)] – 4}
9
Simplify by removing the brackets 

(a)  3a – 2(b – 4a)



(b) (a – b)(a + b) – a(a + 2b)
Simplify by removing the brackets


10
(a)  xy(2y – 3z)(z + y)



(b)  (a - b)(3 – 4(a + b))
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